



Tikrit Journal of Pure Science

ISSN: 1813 – 1662 (Print) --- E-ISSN: 2415 – 1726 (Online)

Journal Homepage: <u>https://tjpsj.org/</u>



### t-modular spaces

### Safa Sh. Mahmoud, Laith K. Shaakir

Department of Mathematics, College of Computer Science and Mathematics, University of Tikrit -Iraq

Αf	<b>X</b> T	I C	LE	I N	FO	•
----	------------	-----	----	-----	----	---

Article history:

-Received:	23 / 6 / 2024
-Received in revised form:	20 / 8 / 2024
-Accepted:	28 / 8 / 2024
-Final Proofreading:	5 / 9 / 2024
-Available online:	25 / 12 / 2024

Keywords: Modular, t-pseudo modular,

t-modular, t-s-convex modular.

**Corresponding Author:** 

Name: Safa Sh. Mahmoud

E-mail:

safa.sh.mahmoudmm238@st.tu.edu.iq

Tel: + 964 7724513628

©2024 THIS IS AN OPEN ACCESS ARTICLE UNDER THE CC BY LICENSE http://creativecommons.org/licenses/by/4.0/

### ABSTRACT

In the current study, a new modular type  $\rho: (0, \infty) \times X \rightarrow [0, \infty)$  which is called t-modular is defined. Some properties are given and proven, the vector space  $X_{\rho} = \left\{ x \in X : \lim_{\substack{\gamma \to 0 \\ \alpha \to \infty}} \rho_{\alpha}(\gamma x) = 0 \right\}$  is defined, namely *t-modular space* with a norm function on  $X_{\rho}$  being stated.

## TJPS

### t موديولر-t

صفا شاكر محمود، ليث خليل شاكر

قسم الرياضيات، كلية علوم الحاسوب والرياضيات، جامعة تكريت، تكريت، العراق

### الملخص

في هذه الورقة البحثية لقد قمنا بتعريف نوع جديد من الموديولر  $(0,\infty) \times X \to [0,\infty) \times X \to -$ وديولر وبرهنا $X_{
ho} = \begin{cases} x \in X : \lim_{\substack{\gamma \to 0 \\ \alpha \to \infty}} \rho_{lpha}(\gamma x) = 0 \end{cases}$ بعض الخصائص وتمكنا أيضا من تعريف فضاء متجاهات على هذا الموديولر

وسمي فضاء t-موديولر وعلى هذا الفضاء عرفنا داله النورم.

### 1. Introduction

Nakano [1] started researching modulars on linear spaces and the idea of modular linear spaces, which is a generalization of metric spaces, in 1950. Then, it was fully developed by Luxemburg [2], Mazur, Musielak, and Orlicz [3, 4, 5]. Since then, much research has been conducted using the concepts of modulars and modular spaces of different Orlicz spaces [6] and interpolation theory [7, 8]. Although a modular gives fewer features than a norm, it is more logical in many particular circumstances. Remember that [9] provides results on the concept of a partial modular metric space with some fixed points. According to Kowzslowski's formulation [10, 11], a modular on a vector space X is defined as follows:

**Definition 1.1:** Let X be an arbitrary vector space. A functional  $\rho : X \rightarrow [0, \infty]$  is called a modular if for any arbitrary x, y in X

*i*) 
$$\rho(x) = 0$$
 *iff*  $x = 0$ .

*ii*)  $\rho(\alpha x) = \rho(x)$  for every scalar  $\alpha$  with  $|\alpha| = 1$ .

*iii*) 
$$\rho(\alpha x + \beta y) \le \rho(x) + \rho(y)$$
, *if*  $\alpha + \beta$   
= 1,  $\alpha \ge 0, \beta \ge 0$ 

If we replay (i) by  $\rho(\alpha x) = 0$  for all  $\alpha > 0$ implies x = 0 then  $\rho$  called semi modular If (iii) is replaced by  $\rho(\alpha x + \beta y) \le \alpha \rho(x) + \beta \rho(y)$  if  $\alpha + \beta = 1, \alpha \ge 0, \beta \ge 0$ , then  $\rho$  is called convex modular if  $\rho$  is modular in X, then the set  $X_{\rho}$  given by  $X_{\rho} = \{x \in X: \rho(\lambda X) \rightarrow 0 \text{ as } \lambda \rightarrow 0\}$  is called a modular space.  $X_{\rho}$  is a vector subspace of X and can be equipped with an *F-norm* defined by setting (see [12]).

$$\| x \|_{\rho} = \inf\{\gamma > 0 : \rho\left(\frac{x}{\gamma}\right) \le \gamma\}, x \in X_{\rho}$$

In 2008, Chistyakov [13] proposed the concept of a modular on an arbitrary set and developed the theory of metric spaces. He also introduced the idea of modular metric spaces formed by Fmodular and developed the theory of these spaces produced in 2010 [14] by modular such that they were referred to be modular metric spaces.

**Definition1.2[14]:** Let *X* be a nonempty set. A function  $\mu: (0, \infty) \times X \times X \to (0, \infty)$  is said to be a metric modular on *X* if satisfying, for all *x*, *y*, *z*  $\in$  *X* then the following condition holds:

i)  $\mu_{\gamma}(x, y) = 0$  for all  $\gamma > 0$  if and only if x = y

ii) 
$$\mu_{\gamma}(x, y) = \mu_{\gamma}(y, x)$$
 for all  $\gamma > 0$ 

iii) 
$$\mu_{\gamma+\theta}(x, y) \le \mu_{\gamma}(x, z) + \mu_{\theta}(z, y)$$
 for all  $\gamma, \theta > 0$ 

If instead (i), we have only condition

(i`)  $\mu_{\gamma}(x, x) = 0$  for all  $\gamma > 0$  then  $\mu$  is said to be a (metric) pseudomodular on *X*.

The main property of a pseudo modular  $\mu$  on a set *X* is following: given  $x, y \in X$ , the function  $0 < \gamma \rightarrow \mu_{\gamma}(x, y) \in [0, \infty]$  is nonincreasing on  $(0, \infty)$ .

In fact, if  $0 < \theta < \gamma$  then (iii), (i`) imply

 $\mu_{\gamma}(x,y) \leq \mu_{\gamma-\theta}(x,x) + \mu_{\theta}(x,y) = \mu_{\theta}(x,y).$ 

In recent years, researchers have worked to develop the concept of modular, for example some fixed-point theorems for a general class of mappings in modular G-metric spaces [15], Partial modular space [16], The Meir-Keeler type contractions in extended modular b-metric spaces with an application [17] and many more [18, 19].

The idea for the study came from similar ideas in normed space such as [20, 21].

The following is a list of some common definitions used in the body of the research.

**Definition1.3:** Let X be a vector space, a mapping  $\|.\|: X \to [0, \infty]$  is F-pesudonorm if satisfy

1) ||x|| = 0 implies x = 0

2)  $||\gamma x|| = ||x||$  for all  $|\gamma| = 1$ 

3) 
$$||x + y|| \le ||x|| + ||y||$$
 for all  $x, y \in X$ 

4)  $\|\beta_k x_k - \beta X\| \to 0$  for  $\beta_k \to \beta$  and  $\|x_k - x\| \to 0$  as  $k \to \infty$ 

**Definition1.4:** Let X be a vector space, a mapping  $||.||: X \to [0, \infty]$  is s-pseudonorm or s-homogenous where  $s \in (0,1]$  if satisfy

- 1) ||0|| = 0
- 2)  $||\gamma x|| = ||x||$  for all  $|\gamma| = 1$
- 3)  $||x + y|| \le ||x|| + ||y||$  for all  $x, y \in X$
- 4)  $\|\gamma x\| = |\gamma|^s \|x\|$ ,  $0 < s \le 1$

### 2. Main Results

**Definition 2.1:** Let *X* be a vector space over the field *F*, a map  $\rho: (0, \infty) \times X \rightarrow [0, \infty)$  is called t-pseudomodular if satisfying the following 1)  $\rho_{\alpha}(0) = 0$  for all  $\alpha > 0$ .

2) 
$$\rho_{\alpha}(\beta x) = \rho_{\alpha}(x)$$
 for all  $\alpha > 0$  and  $|\beta| = 1$ .

3)

 $\rho_{\alpha+\mu}(\sigma x + \beta y) \leq$ 

$$\rho_{\alpha}(x) + \rho_{\mu}(y) \text{ for all } \alpha, \mu > 0 \text{ and } \sigma, \beta \ge$$
  
0 s.t  $\sigma + \beta = 1$ .

If (1) replaced by  $\rho_{\alpha}(x) = 0$  for all  $\alpha > 0$  if and only if x = 0 then  $\rho$  is called t-modular.

If (1) replaced by  $\lim_{\alpha \to \infty} \rho(\beta x) = 0$  for all  $\beta > 0$  then  $\rho$  is called t-semi modular.

If (3) replaced by  $\rho_{\alpha+\mu}(\sigma x + \beta y) \le \sigma \rho_{\alpha}(x) + \beta \rho_{\mu}(y)$  for all  $\alpha, \mu > 0$  and  $\sigma, \beta \ge$ 

0 s.t  $\sigma + \beta = 1$  then  $\rho$  is called t-convex modular

**Theorem 2.1:** If r > 0 then  $\lim_{\alpha \to \infty} \rho_{\alpha}(x) = \lim_{\alpha \to \infty} \rho_{\alpha+r}(x)$ 

**Proof**: Let  $\lim_{\alpha \to \infty} \rho_{\alpha}(x) = L$  then for all  $\epsilon > 0$ there exist  $\mu > 0$  such that  $|\rho_{\alpha}(x) - L| < \epsilon$  for all  $\alpha > \mu$  so  $\alpha + r > \mu$  therefor  $|\rho_{\alpha+r}(x) -$ 

# TJPS

 $L| < \epsilon$  for all  $\alpha > \mu$  hence  $\lim_{\alpha \to \infty} \rho_{\alpha+r}(x) = L$ 

**Proposition 2.2:** If *X* be a vector space over the field *F* and  $\rho$  is t-pseudomodular on *X* then the set  $X_{\rho} = \left\{ x \in X : \lim_{\substack{\gamma \to 0 \\ \alpha \to \infty}} \rho_{\alpha}(\gamma x) = 0 \right\}$  is

vector subspace of *X* 

**Proof**: Let  $x, y \in X_{\rho}$  to prove  $x + y \in X_{\rho}$  i.e  $\lim_{\substack{\gamma \to 0 \\ \alpha \to \infty}} \rho_{\alpha}(\gamma(x+y)) = 0 \quad . \text{Let } \epsilon > 0 \text{ since}$  $x \in X_{\rho}$  then  $\lim_{\substack{\gamma \to 0 \\ \alpha \to \infty}} \rho_{\alpha}(\gamma x) = 0$  therefor there exist  $\delta_1$  and  $\mu_1 > 0$  such that if  $|\gamma| < \delta_1$  then  $|\rho_{\alpha}(\gamma x)| < \frac{\epsilon}{2}$  for all  $\alpha > \mu_1$ , and since  $y \in X_{\rho}$ then  $\lim_{\gamma\to 0} \rho_{\alpha}(\gamma y) = 0$  therefor there exist  $\delta_2$ and  $\mu_2 > 0$  such that if  $|\gamma| < \delta_2$  then  $|\rho_{\alpha}(\gamma y)| < \frac{\epsilon}{2}$  for all  $\alpha > \mu_2$ , . Assume  $\delta = \frac{\min\{\delta_1, \delta_2\}}{2}$  so if  $|\gamma| < \delta$  then  $|2\gamma| < 2\delta$ , take  $\alpha = 2\max\{\mu_1, \mu_2\}$  $\lim_{\substack{\gamma \to 0 \\ \alpha \to \infty}} \rho_{\alpha}(\gamma(x+y)) = \lim_{\substack{\gamma \to 0 \\ \alpha \to \infty}} \rho_{\alpha+\alpha}(\gamma(x+y)) = 0$  $y)) = \lim_{\substack{\gamma \to 0 \\ \alpha \to \infty}} \rho_{\alpha+\alpha}(\frac{1}{2}2\gamma(x+y)) \le$  $\lim_{\substack{\gamma\to 0\\\alpha\to\infty}}\rho_\alpha(2\gamma x)+\lim_{\substack{\gamma\to 0\\\alpha\to\infty}}\rho_\alpha(2\gamma y)<\frac{\epsilon}{2}+\frac{\epsilon}{2}=$  $\epsilon$  for all  $\alpha > \mu$  so  $\rho_{\alpha}(\gamma(x+y) < \epsilon$  and since  $\rho_{\alpha}(\gamma(x+y) \ge 0 \text{ then } |\rho_{\alpha}(\gamma(x+y))| < \epsilon \text{ for}$ all  $\alpha > \mu$  so  $\lim_{\substack{\gamma \to 0 \\ \alpha \to \infty}} \rho_{\alpha}(\gamma(x+y)) = 0$ Therefore,  $x + y \in X_{\rho}$ . Let  $x \in X_{\rho}$ ,  $\beta \in F$  to prove  $\beta x \in X_{\rho}$  it is clear

if  $\beta = 0$  the statement holds. If  $\beta \neq 0$  let to provelim $_{\substack{\gamma \to 0 \\ \alpha \to \infty}} \rho_{\alpha}(\gamma(\beta x)) = 0$ , assume  $\epsilon > 0$  since  $x \in X_{\rho}$  then  $\lim_{\substack{\gamma \to 0 \\ \alpha \to \infty}} \rho_{\alpha}(\gamma x) = 0$  so there exist  $\delta > 0$  and  $\mu > 0$  such that if  $|\gamma| < \delta$  then  $|\rho_{\alpha}(\gamma x)| < \epsilon$ for all  $\alpha > \mu$  Assume  $\delta = \frac{\delta}{|\beta|}$ , if  $|\gamma| < \delta$  we get  $|\beta\gamma| < \delta$  then  $|\rho_{\alpha}(\gamma\beta x)| < \epsilon$  for all  $\alpha > \mu$  therefore,  $\lim_{\alpha \to \infty} \gamma \to 0 \rho_{\alpha}(\gamma(\beta x)) = 0$  so  $\beta x \in X_{\rho}$ . Hence  $X_{\rho}$  is vector subspace.

**Proposition2.3:** Let  $\rho$  be a t-modular on *X* . Then:

a)  $\rho_{\alpha}(\gamma x) = \rho_{\alpha}(|\gamma|x)$  for all  $\alpha > 0$ b)  $\lim_{\alpha \to \infty} \rho_{\alpha}(\gamma x) \leq \lim_{\alpha \to \infty} \rho_{\alpha}(x)$ for  $|\gamma| = 1$ c) If  $\sigma, \beta \in C$  and  $|\sigma| < |\beta|$  then  $\lim_{\alpha \to \infty} \rho_{\alpha}(\sigma x) \leq \lim_{\alpha \to \infty} \rho_{\alpha}(\beta x)$  $\rho_{\sum_{i=1}^{n} \alpha_i}(\sum_{i=1}^{n} \gamma_i x_i) \leq$ d) $\sum_{i=1}^{n} \rho_{\alpha_i}(x_i)$  for all  $\alpha_i > 0$ ,  $n \ge 1$ 2 and  $\sum_{i=1}^{n} \gamma_i = 1$ **Proof:** a) Let  $x \in X_{\rho}$  and  $\gamma \in F$  then  $\rho_{\alpha}(\gamma x) =$  $\rho_{\alpha}\left(\frac{\gamma}{|\gamma|}|\gamma|x\right) = \rho_{\alpha}(|\gamma|x) \text{ (since } \left|\frac{\gamma}{|\gamma|}\right| = 1)$ b) Let  $x \in X_{\rho}$  and  $\gamma \in F$ ,  $|\gamma| \le 1$  then by (a)  $\lim_{\alpha \to \infty} \rho_{\alpha}(\gamma x) = \lim_{\alpha \to \infty} \rho_{\alpha+\mu}(\gamma x) =$  $\lim_{\alpha \to \infty} \rho_{\alpha+\alpha}(|\gamma|x) = \lim_{\alpha \to \infty} \rho_{\alpha+\alpha}(|\gamma|x + \alpha)$  $(1 - |\gamma|)0) \le \lim_{\alpha \to \infty} \rho_{\alpha}(x) + \lim_{\alpha \to \infty} \rho_{\alpha}(0)$ = (since  $\rho_{\alpha}(0) = 0$ ) therefor  $\lim_{\alpha \to \infty} \rho_{\alpha}(\gamma x) \leq$  $\lim_{\alpha\to\infty}\rho_{\alpha}(x)$ c) Let  $x \in X_{\rho}$ ,  $\sigma, \beta \in C$  and  $|\sigma| < |\beta|$  then by  $\lim_{\alpha \to \infty} \rho_{\alpha}(\sigma x) = \lim_{\alpha \to \infty} \rho_{\alpha}(|\sigma|x) =$ (a)  $\lim_{\alpha \to \infty} \rho_{\alpha} \left( \frac{|\sigma|}{|\beta|} |\beta| x \right) \le \lim_{\alpha \to \infty} \rho_{\alpha} (|\beta| x) =$  $\lim_{\alpha \to \infty} \rho_{\alpha}(\beta x)$  therefor  $\lim_{\alpha \to \infty} \rho_{\alpha}(\sigma x) \leq$  $\lim_{\alpha\to\infty}\rho_{\alpha}(\beta x)$ . d) Take n = 2 then  $\rho_{\sum_{i=1}^{2} \alpha_i} (\sum_{i=1}^{2} \gamma_i x_i) =$  $\rho_{\alpha_1 + \alpha_2}(\gamma_1 x_1 + \gamma_2 x_2) \le \rho_{\alpha_1}(x_1) + \rho_{\alpha_2}(x_2) =$  $\sum_{i=1}^{2} \rho_{\alpha_i}(x_i)$  (since  $\gamma_1 + \gamma_2 = 1$ ). Now we suppose the statement it is true for n=k and prove for n=k+1 so  $\rho_{\sum_{i=1}^{k+1}\alpha_i}(\sum_{i=1}^{k+1}\gamma_i x_i) =$  $\rho_{\alpha_1+\alpha_2+\cdots+\alpha_k+\alpha_{k+1}}(\gamma_1x_1+\gamma_2x_2+\cdots+\gamma_kx_k+$ 

# TJPS

### $\gamma_{k+1} x_{k+1}) =$

$$\rho_{\alpha_{1}+\alpha_{2}+\dots+\alpha_{k}+\alpha_{k+1}}\left(\sum_{i=1}^{k}\gamma_{i}\left(\frac{\gamma_{1}}{\sum_{i=1}^{k}\gamma_{i}}x_{1}+\dots+\frac{\gamma_{k}}{\sum_{i=1}^{k}\gamma_{i}}x_{k}\right)+\gamma_{k+1}x_{k+1}\right) = \rho_{\alpha_{1}+\alpha_{2}+\dots+\alpha_{k}+\alpha_{k+1}}\left(\sum_{i=1}^{k}\gamma_{i}\left(\beta_{1}x_{1}+\dots+\beta_{k}x_{k}\right)+\gamma_{k+1}x_{k+1}\right) \le \rho_{\alpha_{1}+\dots+\alpha_{k}}(\beta_{1}x_{1}+\dots+\beta_{k}x_{k})+\rho_{\alpha_{k+1}}(x_{k+1}) \le \rho_{\alpha_{1}}(x_{1})+\rho_{\alpha_{2}}(x_{2})+\dots+\rho_{\alpha_{k}}(x_{k})+\rho_{\alpha_{k+1}}(x_{k+1}) = \sum_{i=1}^{k+1}\rho_{\alpha_{i}}(x_{i})$$

Hence, the statement is true for n=k+1 and the statement true for all  $n \ge 2$ .

**Corollary 2.4:** If  $0 < \alpha_1 \le \alpha_2$  then  $\rho_{\alpha_1}(x) \le \rho_{\alpha_2}(x)$  for all  $x \in X$ .

**Proof:** Since  $\alpha_1 \leq \alpha_2$  then  $\alpha_2 = \alpha_1 + \beta$ ,  $\beta > 0$ so  $\rho_{\alpha_2}(x) = \rho_{\alpha_1+\beta}(1x+0.0) \leq \rho_{\alpha_1}(x) + \rho_{\beta}(0) = \rho_{\alpha_1}(x)$  (since  $\rho_{\beta}(0) = 0$ ). Hence  $\rho_{\alpha_1}(x) \leq \rho_{\alpha_2}(x)$  for all  $x \in X_{\rho}$ .

**Corollary2.5:** For every  $x \in X$  the function  $\rho: [0, \infty) \times X \to [0, \infty)$  is decreasing function with respect to  $\alpha$ .

**Theorem 2.6:** Let  $\rho: [0, \infty) \times X \to [0, \infty)$  be a tpseudomodulr and  $|| ||_{\rho}: X_{\rho} \to [0, \infty)$  define by  $|| x ||_{\rho} = \inf\{u > 0: \lim_{\alpha \to \infty} \rho_{\alpha}\left(\frac{x}{u}\right) \le u\}$  then

a)  $|| x ||_{\rho}$  exist, for all  $x \in X_{\rho}$ 

b) If  $|\beta| = 1$  then  $||\beta x||_{\rho} = ||x||_{\rho}$  for all  $x \in X_{\rho}$ 

c)  $\| x + y \|_{\rho} \le \| x \|_{\rho} + \| y \|_{\rho}$  for all  $x, y \in X_{\rho}$ 

d) If  $N \ge 1$  then  $|| Nx ||_{\rho} \le N || x ||_{\rho}$  for all  $x \in X_{\rho}$ 

**Proof:** a) To show  $|| x ||_{\rho}$  exist we must prove the set  $\{u > 0: \lim_{\alpha \to \infty} \rho_{\alpha}\left(\frac{x}{u}\right) \le u\}$  non-empty Since  $x \in X_{\rho}$  then  $\rho_{\alpha}(\gamma x) \to 0$ , as  $\gamma \to 0, \alpha \to \infty$  Let  $\epsilon = 1$  this implies there exist  $\delta > 0$  such that if  $|\gamma| < \delta$  and  $\mu > 0$  then  $|\rho_{\alpha}(\gamma x)| < 1 = \epsilon$ for all  $\alpha > \mu$ , because  $\delta > 0$  there exist  $n \in \mathbb{N}$  such that  $\frac{1}{n} < \delta$  hence  $\rho_{\alpha}(\frac{1}{n}x) < 1 \le n$ therefor

 $n \in \{u > 0: \lim_{\alpha \to \infty} \rho_{\alpha}\left(\frac{x}{u}\right) \le u\}$ , so the set  $\{u > 0: \lim_{\alpha \to \infty} \rho_{\alpha}\left(\frac{x}{u}\right) \le u\}$  non empty and since 0 is lower bound of the set  $\{u > 0: \lim_{\alpha \to \infty} \rho_{\alpha}\left(\frac{x}{u}\right) \le u\}$  then  $||x||_{\rho} \ge 0$  and exist for all  $x \in X_{\rho}$ 

b) 
$$\| \beta x \|_{\rho} = \inf \left\{ u > 0 : \lim_{\alpha \to \infty} \rho_{\alpha} \left( \frac{\beta x}{u} \right) \le u \right\}$$

 $= \inf \left\{ u > 0 : \lim_{\alpha \to \infty} \rho_{\alpha} \left( \frac{|\beta| x}{u} \right) \le u \right\}$ from proposition 2.3 –a

$$=\inf\{ u > 0 : \lim_{\alpha \to \infty} \rho_{\alpha}\left(\frac{x}{u}\right) \le u \}$$
$$= \parallel x \parallel_{\rho}.$$

c) Let  $x, y \in X_{\rho}$  then from definition of  $|| x ||_{\rho}$ for all  $\epsilon > 0$  there exist  $\mu > 0$  such that  $\mu <$  $|| x ||_{\rho} + \epsilon$  and  $\lim_{\alpha \to \infty} \rho_{\alpha} \left(\frac{x}{\mu}\right) \leq \mu$ , since  $\frac{\mu}{\|x\|_{\rho} + \epsilon} < 1$  then  $\lim_{\alpha \to \infty} \rho_{\alpha} \left(\frac{x}{\|x\|_{\rho} + \epsilon}\right) =$  $\lim_{\alpha \to \infty} \rho_{\alpha} \left(\frac{\mu}{\|x\|_{\rho} + \epsilon \mu}\right) \leq \lim_{\alpha \to \infty} \rho_{\alpha} \left(\frac{x}{\mu}\right) \leq \mu <$  $|| x ||_{\rho} + \epsilon$ , then  $\lim_{\alpha \to \infty} \rho_{\alpha} \left(\frac{x}{\|x\|_{\rho} + \epsilon}\right) \leq$  $|| x ||_{\rho} + \epsilon$ . Similarly we get  $\lim_{\alpha \to \infty} \rho_{\alpha} \left(\frac{y}{\|y\|_{\rho} + \epsilon}\right) \leq$  $|| y ||_{\rho} + \epsilon$ . Let  $u = || x ||_{\rho} + \epsilon$  and v = $|| y ||_{\rho} + \epsilon$  then  $\frac{u}{u+v}, \frac{v}{u+v} > 0$  and  $\frac{u}{u+v} + \frac{v}{u+v} =$ 1. To prove  $u + v \in \{u > 0: \lim_{\alpha \to \infty} \rho_{\alpha} \left(\frac{x+y}{u}\right) \leq u\}$ 

$$\begin{split} \lim_{\alpha \to \infty} \rho_{\alpha} \left( \frac{x+y}{u+v} \right) &= \lim_{\alpha \to \infty} \rho_{\alpha} \left( \frac{u}{u+v} \frac{x}{u} + \frac{v}{u+v} \frac{y}{v} \right) \leq \lim_{\alpha \to \infty} \rho_{\alpha} \left( \frac{x}{u} \right) + \lim_{\alpha \to \infty} \rho_{\alpha} \left( \frac{y}{v} \right) \leq u+v \quad \text{so} \quad u+v \in \{u > 0: \lim_{\alpha \to \infty} \rho_{\alpha} \left( \frac{x+y}{u} \right) \leq u\} \quad \text{hence} \quad \| x+y \|_{\rho} \leq u+v = \| x \|_{\rho} + \| y \|_{\rho} + 2\epsilon \end{split}$$

Since  $\epsilon$  arbitrary then  $|| x + y ||_{\rho} \le || x ||_{\rho} + || y ||_{\rho}$  for all  $x, y \in X_{\rho}$ . d) Let  $\beta > 0$  and  $\lim_{\alpha \to \infty} \rho_{\alpha} \left(\frac{x}{\beta}\right) \le \beta$  since  $N \ge 1$  then  $\lim_{\alpha \to \infty} \rho_{\alpha} \left(\frac{1}{N\beta}Nx\right) \le$   $\lim_{\alpha \to \infty} \rho_{\alpha} \left(\frac{x}{\beta}\right) \le \frac{N}{N}\beta \le N\beta$  so that  $N\beta \in$   $\left\{u > 0: \lim_{\alpha \to \infty} \rho_{\alpha} \left(\frac{Nx}{u}\right) \le u\right\}$  therefor  $\inf\left\{u > 0: \lim_{\alpha \to \infty} \rho_{\alpha} \left(\frac{Nx}{u}\right) \le u\right\} \le N\beta$  for all  $\beta > 0$  and  $\lim_{\alpha \to \infty} \rho_{\alpha} \left(\frac{x}{\beta}\right) \le \beta$ , so ||  $N x ||_{\rho} \le N\beta$  this implies  $\frac{||N x||_{\rho}}{N} \le \beta$  hence  $\frac{||N x||_{\rho}}{N} \le \beta$  is lower bound for  $\left\{\beta > 0:$   $\lim_{\alpha \to \infty} \rho_{\alpha} \left(\frac{x}{\beta}\right) \le \beta\right\}$  then  $\frac{||N x||_{\rho}}{N} \le || x ||_{\rho}$  hence  $|| Nx ||_{\rho} \le N || x ||_{\rho}$  for all  $x \in X_{\rho}$ .

**Theorem 2.7:** Let  $\rho: [0, \infty) \times X \to [0, \infty)$  be a t-pseudomodulr and  $\| \|_{\rho}: X_{\rho} \to [0, \infty)$  define by  $\| x \|_{\rho} = \inf\{u > 0: \lim_{\alpha \to \infty} \rho_{\alpha}\left(\frac{x}{u}\right) \le u\}$  then a) If  $x_{1}, x_{2} \in X_{\rho}$  such that  $\lim_{\alpha \to \infty} \rho_{\alpha}(\gamma x_{1}) \le \lim_{\alpha \to \infty} \rho_{\alpha}(\gamma x_{2})$  for all  $\gamma > 0$  then  $\| x_{1} \|_{\rho} \le \| x_{2} \|_{\rho}$ b) If  $0 \le \gamma_{1} \le \gamma_{2}$  then  $\| \gamma_{1}x \|_{\rho} \le \| \gamma_{2}x \|_{\rho}$ for all  $x \in X_{\rho}$ 

c) If  $|| x ||_{\rho} < 1$  then  $\lim_{\alpha \to \infty} \rho_{\alpha}(x) \le$  $|| x ||_{\rho}$ 

d) If  $|| x_n ||_{\rho} \rightarrow \text{ and } \gamma \in C \text{ then } || \gamma x_n ||_{\rho} \rightarrow 0 \text{ as } n \rightarrow \infty$ 

# TJPS

**Proof:** a) Let 
$$A = \left\{ u > 0 : \lim_{\alpha \to \infty} \rho_{\alpha} \left( \frac{x_1}{u} \right) \le u \right\}$$
,  $B = \left\{ u > 0 : \lim_{\alpha \to \infty} \rho_{\alpha} \left( \frac{x_2}{u} \right) \le u \right\}$  to show  $B \subseteq A$ 

Let  $u \in B$  then  $\lim_{\alpha \to \infty} \rho_{\alpha} \left(\frac{x_2}{u}\right) \le u$ , since  $\lim_{\alpha \to \infty} \rho_{\alpha} \left(\gamma x_1\right) \le \lim_{\alpha \to \infty} \rho_{\alpha} \left(\gamma x_2\right) \le u$  then  $u \in A$  therefor  $B \subseteq A$ . Hence  $infA \le infB$  so  $\parallel x_1 \parallel_{\rho} \le \parallel x_2 \parallel_{\rho}$ .

b) If  $\gamma_1 = \gamma_2$  then the statement is true Suppose  $\gamma_1 < \gamma_2$  then  $\frac{\gamma_1}{\gamma_2} < 1$  . Now let  $A = \left\{ u > 0 : \lim_{\alpha \to \infty} \rho_{\alpha} \left( \frac{\gamma_1 x}{u} \right) \le u \right\}, B =$  $\left\{ u > 0 : \lim_{\alpha \to \infty} \rho_{\alpha} \left( \frac{\gamma_2 x}{u} \right) \le u \right\}$  To prove  $\subseteq A$ , let  $c \in B$  then  $\lim_{\alpha \to \infty} \rho_{\alpha} \left( \frac{\gamma_2 x}{c} \right) \le c$ . Since  $\frac{\gamma_1}{\gamma_2} < 1$  $\lim_{\alpha \to \infty} \rho_{\alpha} \left( \frac{\gamma_1 x}{c} \right) = \lim_{\alpha \to \infty} \rho_{\alpha} \left( \frac{\gamma_1 \gamma_2 x}{\gamma_2 c} \right) \le$  $\lim_{\alpha \to \infty} \rho_{\alpha} \left( \frac{\gamma_2 x}{c} \right) \le c$  this implies  $c \in A$  so  $infA \leq infB$ Therefor  $\| \gamma_1 x \|_{\rho} \leq \| \gamma_2 x \|_{\rho}$  for all  $x \in X_{\rho}$ . c) Since  $||x||_{\rho} = \inf\{u > 0 : \lim_{\alpha \to \infty} \rho_{\alpha}\left(\frac{x}{u}\right) \le 1$ u and  $|| x ||_{\rho} < 1$  then there exist  $u_{\circ}$  such that  $0 < u_{\circ} < 1$  and  $\lim_{\alpha \to \infty} \rho_{\alpha} \left( \frac{x}{u_{\circ}} \right) \leq u_{\circ}$ . Now we shall prove if  $0 < \gamma$  and  $\lim_{\alpha \to \infty} \rho_{\alpha} \left(\frac{x}{\gamma}\right) \le \gamma$  then  $\lim_{\alpha \to \infty} \rho_{\alpha}(x) \leq \gamma$ -If  $0 < \gamma \le 1$  and  $\lim_{\alpha \to \infty} \rho_{\alpha} \left(\frac{x}{\gamma}\right) \le \gamma$  then  $\lim_{\alpha \to \infty} \rho_{\alpha}(x) = \lim_{\alpha \to \infty} \rho_{\alpha}(\gamma \frac{x}{x}) \leq 1$  $\lim_{\alpha \to \infty} \rho_{\alpha} \left(\frac{x}{y}\right) \leq \gamma$ -If  $\gamma > 1$ then  $\lim_{\alpha \to \infty} \rho_{\alpha}(x) = \lim_{\alpha \to \infty} \rho_{\alpha}\left(u_{\circ}\frac{x}{u}\right) \leq 1$  $\lim_{\alpha \to \infty} \rho_{\alpha} \left( \frac{x}{x} \right) \le u_{\circ} \le 1 < \gamma$ . Therefor  $\lim_{\alpha\to\infty}\rho_{\alpha}(x)$  is lower bound for the set

TJPS

 $\{u > 0: \lim_{\alpha \to \infty} \rho_{\alpha}\left(\frac{x}{u}\right) \le u\}$ hence  $\lim_{\alpha \to \infty} \rho_{\alpha} \leq \inf\{u > 0 : \rho_{\alpha}\left(\frac{x}{u}\right) \leq u, \forall \alpha \geq 0\}$ Therefor  $\lim_{\alpha \to \infty} \rho_{\alpha} \leq \| x \|_{\rho}$ . d)Let N positive integer number and  $|\gamma| < N$ since  $\gamma \leq |\gamma| < N$  then  $\gamma \leq N$  so by (b)  $\| \gamma x_n \|_{\rho} \leq \| N x_n \|_{\rho} \leq N \| x_n \|_{\rho} \rightarrow 0 \text{ as } n \rightarrow$ 00 Therefor  $\| \gamma x_n \|_{\rho} \to 0 \text{ as } n \to \infty$ **Proposition 2.8:** If  $\rho: [0, \infty) \times X \to [0, \infty)$  is tsemi modular the function which define by  $\| x \|_{\rho} = \inf\{u > 0 : \lim_{\alpha \to \infty} \rho_{\alpha}\left(\frac{x}{u}\right) \le u\} \text{ is } F$ norm on  $X_{\rho}$ . **Proof:** 1) If x = 0 then  $|| 0 ||_{\rho} = \inf\{u > v\}$  $0: \lim_{\alpha \to \infty} \rho_{\alpha} \left( \frac{0}{u} \right) \le u \} = \inf\{u > u\}$  $0: \lim_{\alpha \to \infty} \rho_{\alpha} (0) \le u \}$  $= \inf\{u > 0 : 0 \le u\} = \inf(0, \infty) = 0 .$ Conversely let  $|| x ||_{\rho} = 0$ then  $|| x ||_{\rho} =$  $\inf\{u > 0 : \lim_{\alpha \to \infty} \rho_{\alpha}\left(\frac{x}{u}\right) \le u\} = 0$  then there exist  $u_n \ge 0$  such that  $u_n \to 0 \text{ as } n \to \infty$  and  $\lim_{\alpha \to \infty} \rho_{\alpha} \left( \frac{x}{u_n} \right) \le u_n \ \forall n$ 

Let  $\gamma$  positive integer, since  $u_n \rightarrow 0$  then there exist positive integer k such that  $\gamma u_n < 1 \quad \forall n > k$ 

Since  $\rho$  is t-semi modular then  $\lim_{\alpha \to \infty} \rho_{\alpha} (\gamma x) = \lim_{\alpha \to \infty} \rho_{\alpha} \left( \gamma u_{n} \frac{x}{u_{n}} \right) \leq$   $\lim_{\alpha \to \infty} \rho_{\alpha} \left( \frac{\gamma}{u_{n}} \right) \leq u_{n} \to 0 \quad \text{for all } n > k \quad \text{So}$   $\lim_{\alpha \to \infty} \rho_{\alpha} (\gamma x) = 0 \quad \forall \gamma > 0 \quad \text{, hence } x = 0$   $2) \| \gamma x \|_{\rho} = \inf\{u > 0 : \lim_{\alpha \to \infty} \rho_{\alpha} \left( \frac{\gamma x}{u} \right) \leq u \}$   $= \inf\{u > 0 : \lim_{\alpha \to \infty} \rho_{\alpha} \left( \frac{|\gamma|x}{u} \right) \leq u \}$ from proposition 2.3 a

from proposition 2.3-a

$$=\inf\{u > 0 : \lim_{\alpha \to \infty} \rho_{\alpha}\left(\frac{x}{u}\right) \le u \}$$
$$= \| x \|_{\rho}$$

3) similarly proposition 2.6-c 4) Let  $\beta_n \to \beta$  and  $||x_n - x||_{\rho} \to 0$  as  $n \to \infty$ to prove  $||\beta_n x_n - \beta x|| \to 0$  as  $n \to \infty$ Writing  $c_n = \beta_n - \beta$  and  $y_n = x_n - x$  we have  $c_n \to 0$  and  $y_n \to 0$  as  $n \to \infty$ Now give  $\epsilon > 0$  and since  $x \in X_{\rho}$ , we get  $\rho_{\alpha} \left( c_n \frac{x}{\epsilon} \right) \to 0$  as  $n \to \infty$  so  $\rho_{\alpha_x} \left( c_n \frac{x}{\epsilon} \right) < \epsilon$ Hence  $||c_n x|| \to 0$ , taking N positive integer such that  $|\beta_n| \le N \forall n$  we have  $||\beta_n x_n - \beta x||_{\rho} = ||\beta_n x_n - \beta_n x + \beta_n x - \beta x||_{\rho} = ||\beta_n (x_n - x)||_{\rho} + ||(\beta_n - \beta)x|| \le$   $||Ny_n|| + ||c_n x|| \le N ||y_n|| + ||c_n x|| \to 0$  as  $n \to \infty$ Hence  $||\beta_n x_n - \beta x||_{\rho} \to 0$  as  $n \to \infty$ 

Therefor  $|| x ||_{\rho} = \inf\{u > 0 : \lim_{\alpha \to \infty} \rho_{\alpha}\left(\frac{x}{u}\right) \le u\}$  is F-norm on  $X_{\rho}$ .

**Definition 2.2:** Let *X* be a vector space over the field *F*, a map  $\rho: [0, \infty) \times X \rightarrow [0, \infty)$  is called t-s-convex modular if satisfy the following

1) 
$$\rho_{\alpha}(x) = 0$$
 iff  $x = 0$ .  
2)  $\rho_{\alpha}(\beta x) = \rho_{\alpha}(x)$  for all  $\alpha > 0$  and  $|\beta| = 1$ .

3)

$$\rho_{\alpha+\mu}(\sigma x + \beta y) \leq \\ \sigma \rho_{\alpha}(x) + \beta \rho_{\mu}(y) \text{ for all } \alpha, \mu > \\ 0 \text{ and } \sigma, \beta \geq 0 \text{ s.t } \sigma + \beta = 1 \text{ for s} \in (0,1]. \\ \text{Theorem 2.9: If } X \text{ be a vector space over the} \end{cases}$$

field *F* and  $\rho$  is t-s-convex modular on *X* then the set  $X_{\rho} = \left\{ x \in X : \lim_{\substack{\gamma \to 0 \\ \alpha \to \infty}} \rho_{\alpha}(\gamma x) = 0 = 0 \right\}$ is vector subspace of *X* 

**Proof:** Let  $x, y \in X_{\rho}$  to prove  $x + y \in X_{\rho}$ , Let  $\epsilon > 0$  since  $x \in X_{\rho}$  then  $\lim_{\substack{\gamma \to 0 \\ \alpha \to \infty}} \rho_{\alpha}(\gamma x) =$ 0 therefor there exist  $\delta_1$  and  $\mu_1$  such that if  $|\gamma| < \delta_1$  then  $|\rho_{\alpha}(\gamma x)| < (\frac{1}{2})^{-s+1}\epsilon$  for all  $\alpha > \mu_1$ , and since  $y \in X_{\rho}$  then  $\lim_{\substack{\gamma \to 0 \\ \alpha \to \infty}} \rho_{\alpha}(\gamma y) = 0$  therefor there exist  $\delta_2$  and  $\mu_2 > 0$  such that if  $|\gamma| < \delta_2$  then  $|\rho_{\alpha}(\gamma y)| < (\frac{1}{2})^{-s+1}\epsilon$  for all  $\alpha > \mu_2$ . Assume  $\delta = \frac{\min\{\delta_1, \delta_2\}}{2}$ so if  $|\gamma| < \delta$  then  $|2\gamma| < 2\delta$  and let  $\mu =$  $2 \max\{\mu_1, \mu_2\}$ 

$$\begin{split} \lim_{\substack{\gamma \to 0 \\ \alpha \to \infty}} \rho_{\alpha}(\gamma(x+y)) &= \lim_{\substack{\gamma \to 0 \\ \alpha \to \infty}} \rho_{\alpha+\alpha}\left(\frac{1}{2}2\gamma x + \frac{1}{2}2\gamma y\right) \leq \\ \left(\frac{1}{2}\right)^{s} \lim_{\substack{\gamma \to 0 \\ \alpha \to \infty}} \rho_{\alpha}(2\gamma x) + \\ \left(\frac{1}{2}\right)^{s} \lim_{\substack{\gamma \to 0 \\ \alpha \to \infty}} \rho_{\alpha}(2\gamma y) < \left(\frac{1}{2}\right)^{s} \left(\frac{1}{2}\right)^{-s+1} \epsilon + \\ \left(\frac{1}{2}\right)^{s} \left(\frac{1}{2}\right)^{-s+1} \epsilon &= \epsilon \text{ so } \rho_{\alpha}(\gamma(x+y)) < \epsilon \text{ for all } \\ \alpha > \mu \text{ and since } \rho_{\alpha}(\gamma(x+y)) \geq 0 \text{ then } \\ |\rho_{\alpha}(\gamma(x+y))| < \epsilon \text{ so } \lim_{\substack{\gamma \to 0 \\ \alpha \to \infty}} \rho_{\alpha}(\gamma(x+y)) = \\ 0 \text{ therefore } x + y \in X_{\rho}. \end{split}$$

Let  $x \in X_{\rho}$ ,  $\beta \in F$  to prove  $\beta x \in X_{\rho}$  it is clear if  $\beta = 0$  the statement holds.

If  $\beta \neq 0$  to prove  $\lim_{\substack{\gamma \to 0 \\ \alpha \to \infty}} \rho_{\alpha}(\gamma(\beta x))$ , assume  $\epsilon > 0$  since  $x \in X_{\rho}$  then  $\lim_{\substack{\gamma \to 0 \\ \alpha \to \infty}} \rho_{\alpha}(\gamma x) = 0$ so there exist  $\delta > 0$  and  $\mu > 0$  such that if  $|\gamma| < \delta$  then  $|\rho_{\alpha}(\gamma x)| < \epsilon$  for all  $\alpha > \mu$ . Take  $\delta = \frac{\delta}{|\beta|}$ , if  $|\gamma| < \delta$  we get  $|\beta \gamma| < \delta$  then  $|\rho_{\alpha}(\gamma \beta x)| < \epsilon$  for all  $\alpha > \mu$  therefor  $\lim_{\substack{\gamma \to 0 \\ \alpha \to \infty}} \rho_{\alpha}(\gamma x) = 0$ . So  $\beta x \in X_{\rho}$ 

Hence  $X_{\rho}$  is vector subspace.

**Proposition2.10:** Let  $\rho$  be a t-s-convex modular on *X* and  $0 < s \le 1$  then

a) 
$$\rho_{\alpha}(\gamma x) = \rho_{\alpha}(|\gamma|x)$$
 for all  $\alpha > 0$   
b)  $\lim_{\alpha \to \infty} \rho_{\alpha}(\gamma x) \le |\gamma|^{s} \lim_{\alpha \to \infty} \rho_{\alpha}(x)$  for  
 $|\gamma| \le 1$   
c) If  $\sigma, \beta \in C$  and  $|\sigma| < |\beta|$  then  
 $\lim_{\alpha \to \infty} \rho_{\alpha}(\sigma x) \le \lim_{\alpha \to \infty} \rho_{\alpha}(\beta x)$   
d)  $\rho_{\sum_{i=1}^{n} \alpha_{i}}(\sum_{i=1}^{n} \gamma_{i} x_{i}) \le$   
 $\sum_{i=1}^{n} (\gamma_{i})^{s} \rho_{\alpha_{i}}(x_{i})$  for all  $\alpha_{i} \ge 0$ ,  $n \ge$   
2 and  $\sum_{i=1}^{n} (\gamma_{i})^{s} = 1$   
**Proof:** a) similarly proof of proposition 2.3-a  
b) Let  $x \in X_{\rho}$  and  $\gamma \in F$ ,  $|\gamma| \le 1$  then by (a)  
 $\lim_{\alpha \to \infty} \rho_{\alpha}(\gamma x) = \lim_{\alpha \to \infty} \rho_{\alpha}(|\gamma|x) =$   
 $\lim_{\alpha \to \infty} \rho_{\alpha}(|\gamma|x + (1 - |\gamma|)0) \le$   
 $|\gamma|^{s} \lim_{\alpha \to \infty} \rho_{\alpha}(0) = |\gamma|^{s} \lim_{\alpha \to \infty} \rho_{\alpha}(x)$   
( since  $\lim_{\alpha \to \infty} \rho_{\alpha}(0) = 0$ )

Therefor  $\lim_{\alpha \to \infty} \rho_{\alpha}(\gamma x) \le |\gamma|^{s} \lim_{\alpha \to \infty} \rho_{\alpha}(x)$ 

c) Let 
$$x \in X_{\alpha}$$
,  $\sigma, \beta \in C$  and  $|\sigma| < |\beta|$  then by  
(a)  $\lim_{\alpha \to \infty} \rho_{\alpha}(\sigma x) = \lim_{\alpha \to \infty} \rho_{\alpha}(|\sigma|x) =$   
 $\lim_{\alpha \to \infty} \rho_{\alpha}\left(\frac{|\sigma|}{|\beta|}|\beta|x\right) \leq$   
 $\left(\frac{|\sigma|}{|\beta|}\right)^{s} \lim_{\alpha \to \infty} \rho_{\alpha}(|\beta|x) \leq \lim_{\alpha \to \infty} \rho_{\alpha}(|\beta|x) =$   
 $\lim_{\alpha \to \infty} \rho_{\alpha}(\beta x)$  therefor  $\lim_{\alpha \to \infty} \rho_{\alpha}(\sigma x) \leq$   
 $\lim_{\alpha \to \infty} \rho_{\alpha}(\beta x)$ .  
d) Take  $n = 2$  then  $\rho_{\sum_{i=1}^{2}\alpha_{i}}\left(\sum_{i=1}^{2}\gamma_{i}x_{i}\right) =$   
 $\rho_{\alpha_{1}+\alpha_{2}}(\gamma_{1}x_{1}+\gamma_{2}x_{2}) \leq \gamma_{i}^{s}\rho_{\alpha_{1}}(x_{1}) +$   
 $\gamma_{i}^{s}\rho_{\alpha_{2}}(x_{2}) = \sum_{i=1}^{2}\gamma_{i}^{s}\rho_{\alpha_{i}}(x_{i})$  (since  $\gamma_{1}^{s} +$   
 $\gamma_{2}^{s} = 1$ ). Now we suppose the statement it is  
true for  $n=k$  and prove for  $n=k+1$  so  
 $\rho_{\sum_{i=1}^{k+1}\alpha_{i}}\left(\sum_{i=1}^{k+1}\gamma_{i}x_{i}\right) =$   
 $\rho_{\alpha_{1}+\alpha_{2}+\dots+\alpha_{k}+\alpha_{k+1}}\left(\gamma_{1}x_{1}+\gamma_{2}x_{2}+\dots+\gamma_{k}x_{k}+\gamma_{k+1}x_{k+1}\right) =$   
 $\rho_{\alpha_{1}+\alpha_{2}+\dots+\alpha_{k}+\alpha_{k+1}}\left(\sum_{i=1}^{k}(\gamma_{i}^{s})^{\frac{1}{s}}\left(\left(\frac{\gamma_{1}^{s}}{\sum_{i=1}^{k}\gamma_{i}^{s}}\right)^{\frac{1}{s}}x_{1}+$ 

# TJPS

# $\cdots + \left(\frac{\gamma_k^s}{\sum_{i=1}^k \gamma_i^s}\right)^{\frac{1}{s}} x_k \right) + \gamma_{k+1} x_{k+1} \right) =$ $\rho_{\alpha_1 + \alpha_2 + \dots + \alpha_k + \alpha_{k+1}} \left( \sum_{i=1}^k (\gamma_i^s)^{\frac{1}{s}} (\beta_1 x_1 + \dots + \beta_k x_k) + \right) \\ \beta_k x_k + \gamma_{k+1} x_{k+1} \right) \leq$ $\sum_{i=1}^k (\gamma_i)^s \rho_{\alpha_1 + \dots + \alpha_k} (\beta_1 x_1 + \dots + \beta_k x_k) +$ $\gamma_{k+1}^s \rho_{\alpha_{k+1}} (x_{k+1}) \leq \sum_{i=1}^k (\gamma_i)^s (\beta_1^s \rho_{\alpha_1} (x_1) +$ $\beta_2^s \rho_{\alpha_2} (x_2) + \dots + \beta_k^s \rho_{\alpha_k} (x_k) +$ $\gamma_{k+1}^s \rho_{\alpha_{k+1}} (x_{k+1}) =$ $\sum_{i=1}^k (\gamma_i)^s \left( \frac{\gamma_1^s}{\sum_{i=1}^k \gamma_i^s} \rho_{\alpha_1} (x_1) + \dots + \right)$ $\frac{\gamma_k^s}{\sum_{i=1}^k \gamma_i^s} \rho_{\alpha_k} (x_k) \right) + \gamma_{k+1}^s \rho_{\alpha_{k+1}} (x_{k+1}) =$ $\gamma_1^s \rho_{\alpha_1} (x_1) + \dots + \gamma_k^s \rho_{\alpha_k} (x_k) +$ $\gamma_{k+1}^s \rho_{\alpha_{k+1}} (x_{k+1}) = \sum_{i=1}^{k+1} \gamma_i^s \rho_{\alpha_i} (x_i) \text{ hence the statement it is true for } n = k + I \text{ then the statement true foe all } n \geq 2$

**Theorem 2.11:** Let  $\rho$  be t-s-convex modular, and  $\|.\|_{\rho}^{s}: X_{\rho} \to [0, \infty)$  define by

$$\|x\|_{\rho}^{s} = \inf\{u > 0 : \lim_{\alpha \to \infty} \rho_{\alpha}\left(\frac{x}{\frac{1}{u^{s}}}\right) \le 1\} \quad \text{then}$$

the following holds

a) If  $\sigma, \beta \in C$  such that  $|\sigma| \le |\beta|$  then  $||\sigma x||_{\rho}^{s} \le ||\beta x||_{\rho}^{s}$ 

b) 
$$||x + y||_{\rho}^{s} \leq ||x||_{\rho}^{s} + ||y||_{\rho}^{s}$$
 for all  $x, y \in X_{\rho}$   
c) If *N* positive integer then  $||Nx||_{\rho}^{s} \leq N||x||_{\rho}^{s}$   
**Proof:** a) If  $\sigma = \beta$  then the statement holds  
If  $\sigma < \beta$  then  $\frac{\sigma}{\beta} < 1$  also  $(\frac{\sigma}{\beta})^{s} < 1$  for  $\in (0,1]$ .  
Now to prove  $\{u > 0 : \lim_{\alpha \to \infty} \rho_{\alpha} \left(\frac{\beta x}{u_{s}}\right) \leq 1\} \subset \{u > 0 : \lim_{\alpha \to \infty} \rho_{\alpha} \left(\frac{\sigma x}{u_{s}}\right) \leq 1\}$ , let  $\gamma \in \{u > 0 : \lim_{\alpha \to \infty} \rho_{\alpha} \left(\frac{\beta x}{u_{s}}\right) \leq 1\}$  so  $\lim_{\alpha \to \infty} \rho_{\alpha} \left(\frac{\beta x}{\gamma_{s}}\right) \leq 1$ .  
Then

$$\begin{split} \lim_{\alpha \to \infty} \rho_{\alpha} \left( \frac{\sigma x}{\gamma_{s}^{s}} \right) &\leq \lim_{\alpha \to \infty} \rho_{\alpha} \left( \frac{\sigma}{\beta} \frac{\beta x}{\gamma_{s}^{1}} \right) \leq 1 \\ \left( \frac{\sigma}{\beta} \right)^{s} \lim_{\alpha \to \infty} \rho_{\alpha} \left( \frac{\beta x}{\gamma_{s}^{1}} \right) \leq \lim_{\alpha \to \infty} \rho_{\alpha} \left( \frac{\beta x}{\gamma_{s}^{1}} \right) \leq 1 \\ (\operatorname{since} \left( \frac{\sigma}{\beta} \right)^{s} < 1 \ ) \\ \\ \text{Hence} \quad \gamma \in \{ u > 0 : \lim_{\alpha \to \infty} \rho_{\alpha} \left( \frac{\sigma x}{u_{s}^{1}} \right) \leq 1 \ \} \quad \text{i.e} \\ \{ u > 0 : \lim_{\alpha \to \infty} \rho_{\alpha} \left( \frac{\sigma x}{u_{s}^{1}} \right) \leq 1 \ \} \leq \inf \{ u > 0 : \\ \\ \lim_{\alpha \to \infty} \rho_{\alpha} \left( \frac{\beta x}{u_{s}^{1}} \right) \leq 1 \ \} \quad \text{Therefor} \quad \| \sigma x \|_{\rho}^{s} \leq \\ \| \beta x \|_{\rho}^{s} \\ \text{b)} \quad \text{Let} \quad \epsilon > 0 \quad \text{and} \quad \text{since} \quad \| x \|_{\rho}^{s} = \inf \{ u > 0 : \\ \\ \lim_{\alpha \to \infty} \rho_{\alpha} \left( \frac{x}{u_{s}^{1}} \right) \leq 1 \ \} \quad \text{then there exist} \quad \mu > 0 \\ \text{such that} \quad \mu < \| x \|_{\rho}^{s} + \epsilon \text{ and} \quad \lim_{\alpha \to \infty} \rho_{\alpha} \left( \frac{x}{\| x \|_{\rho}^{s} + \epsilon \right) = \\ \\ \lim_{\alpha \to \infty} \rho_{\alpha} \left( \frac{\mu}{\| x \|_{\rho}^{s} + \epsilon} \cdot \frac{x}{\mu} \right) \leq \lim_{\alpha \to \infty} \rho_{\alpha} \left( \frac{x}{\| x \|_{\rho}^{s} + \epsilon} \right) \leq \\ \\ \| x \|_{\rho}^{s} + \epsilon \quad \text{, then} \quad \lim_{\alpha \to \infty} \rho_{\alpha} \left( \frac{x}{\| x \|_{\rho}^{s} + \epsilon} \right) \leq \\ \| x \|_{\rho}^{s} + \epsilon \quad \text{.} \\ \text{Similarly we get} \quad \lim_{\alpha \to \infty} \rho_{\alpha} \left( \frac{y}{\| y \|_{\rho}^{s} + \epsilon} \right) \leq \\ \\ \| y \|_{\rho} + \epsilon \quad \text{Let} \quad u = \| x \|_{\rho}^{s} + \epsilon \text{ and} \quad v = \| y \|_{\rho}^{s} + \epsilon \\ \epsilon \quad \text{then} \quad \frac{u}{u + v}, \frac{v}{u + v} > 0 \text{ and} \quad \frac{u}{u + v} + \frac{v}{u + v} = 1. \text{ To} \\ \\ \text{prove} \quad u + v \in \{ u > 0 : \rho_{\alpha x + y} (\frac{x + y}{u}) \leq u \} \quad \text{take} \\ \end{cases}$$

$$\begin{aligned} \alpha_{x+y} &= \alpha_x + \alpha_y \\ \lim_{\alpha \to \infty} \rho_\alpha \left( \frac{x+y}{(u+v)^{\frac{1}{s}}} \right) = \\ \lim_{\alpha \to \infty} \rho_{\alpha+\alpha} \left( \frac{u^{\frac{1}{s}}}{(u+v)^{\frac{1}{s}}} \frac{x}{u^{\frac{1}{s}}} + \frac{v^{\frac{1}{s}}}{(u+v)^{\frac{1}{s}}} \frac{y}{v^{\frac{1}{s}}} \right) \leq \\ \frac{u}{u+v} \lim_{\alpha \to \infty} \rho_\alpha \left( \frac{x}{u} \right) + \frac{v}{u+v} \lim_{\alpha \to \infty} \rho_\alpha \left( \frac{y}{v} \right) \leq \\ \frac{u}{u+v} + \frac{v}{u+v} \leq 1 \qquad \text{so} \\ u+v \in \{u > 0: \lim_{\alpha \to \infty} \rho_\alpha \left( \frac{x+y}{u} \right) \leq u\} \quad \text{hence} \end{aligned}$$

 $u + v \in \{u > 0: \lim_{\alpha \to \infty} \rho_{\alpha}\left(\frac{u}{u}\right) \le u\} \quad \text{hence}$  $\|x + y\|_{\rho}^{s} \le u + v = \|x\|_{\rho}^{s} + \|y\|_{\rho}^{s} + 2\epsilon \text{, hence}$ 

# TJPS

# TJPS

$$\begin{split} \|x + y\|_{\rho}^{s} &\leq \|x\|_{\rho}^{s} + \|y\|_{\rho}^{s}.\\ \text{c)} \|Nx\|_{\rho}^{s} &= \|x + x + \dots + x\|_{\rho}^{s} \quad \text{N-times}\\ &\leq N\|x\|_{\rho}^{s} \end{split}$$

**Thererom2.12:** Let  $\rho$  be t-s-convex modular, and  $\|.\|_{\rho}^{s}: X_{\rho} \to [0, \infty)$  define by

$$\|x\|_{\rho}^{s} = \inf\{u > 0 : \lim_{\alpha \to \infty} \rho_{\alpha}\left(\frac{x}{\frac{1}{u^{s}}}\right) \le 1\} \quad \text{then}$$

the following holds

a) If  $x_1, x_2 \in X_\rho$  such that  $\lim_{\alpha \to \infty} \rho_\alpha (\gamma x_1) \le \lim_{\alpha \to \infty} \rho_\alpha (\gamma x_2)$  for all  $\gamma > 0$  then  $||x_1||_\rho^s \le ||x_2||_\rho^s$ 

b) If  $||x||_{\rho}^{s} < 1$  then  $\lim_{\alpha \to \infty} \rho_{\alpha} \le ||x||_{\rho}^{s}$ c) If  $||x_{n}||_{\rho}^{s} \to 0$  and  $\gamma \in C$  then  $||\gamma x_{n}||_{\rho}^{s} \to 0$ 

as 
$$n \to \infty$$

v

**Proof:** a) Let = {u > 0:  $\lim_{\alpha \to \infty} \rho_{\alpha} \left(\frac{x_1}{u^{\frac{1}{s}}}\right) \le 1$ },  $B = \{u > 0: \lim_{\alpha \to \infty} \rho_{\alpha} \left(\frac{x_2}{u^{\frac{1}{s}}}\right) \le 1$ } to show  $B \subseteq A$ 

Let  $v \in B$  so v > 0 and  $\lim_{\alpha \to \infty} \rho_{\alpha} \left(\frac{x_{2}}{v_{s}}\right) \leq 1$ since  $\lim_{\alpha \to \infty} \rho_{\alpha} \left(\frac{x_{1}}{u_{s}}\right) \leq \lim_{\alpha \to \infty} \rho_{\alpha} \left(\frac{x_{2}}{v_{s}}\right) \leq 1$ then  $v \in A$  hence  $B \subseteq A$ Therefor  $infA \leq infB$  i.e  $||x_{1}||_{\rho}^{s} \leq ||x_{2}||_{\rho}^{s}$ 

b) Since  $\inf\{u > 0 : \lim_{\alpha \to \infty} \rho_{\alpha} \left(\frac{x}{u^{\frac{1}{5}}}\right) \le 1 \} < 1$ then there exist 0 < v < 1 such that  $\lim_{\alpha \to \infty} \rho_{\alpha} \left(\frac{x}{v^{\frac{1}{5}}}\right) \le 1$  so

$$\lim_{\alpha \to \infty} \rho_{\alpha} (x) = \lim_{\alpha \to \infty} \rho_{\alpha} \left( v^{\frac{1}{s}} \frac{x}{\frac{1}{v^{\frac{1}{s}}}} \right) \le$$

$$\lim_{\alpha \to \infty} \rho_{\alpha} \left( \frac{x}{v^{\frac{1}{5}}} \right) \le v < 1 \qquad \text{then}$$

$$\begin{split} \lim_{\alpha \to \infty} \rho_{\alpha} (x) < 1 \quad \text{.Now} \quad \text{let} \quad \gamma \in \{ u > 0 : \\ \lim_{\alpha \to \infty} \rho_{\alpha} \left( \frac{x}{u^{\frac{1}{s}}} \right) \leq 1 \, \rbrace \end{split}$$

If  $0 < \gamma \le 1$  and  $\lim_{\alpha \to \infty} \rho_{\alpha} \left( \frac{x}{\gamma_{s}^{1}} \right) \le 1$  so  $\lim_{\alpha \to \infty} \rho_{\alpha} (x) = \lim_{\alpha \to \infty} \rho_{\alpha} \left( \gamma_{s}^{\frac{1}{s}} \frac{x}{\gamma_{s}^{1}} \right) \le$   $\gamma \lim_{\alpha \to \infty} \rho_{\alpha} \left( \frac{x}{\gamma_{s}^{1}} \right) \le \gamma$  .....(1) If  $\gamma > 1$  since  $\rho_{\alpha_{x}}(x) < 1$  we get  $\lim_{\alpha \to \infty} \rho_{\alpha} (x) < 1 < \gamma$  ...(2) From (1) ,(2) we get  $\lim_{\alpha \to \infty} \rho_{\alpha} (x)$  is lower bound for the set  $\{u > 0 : \lim_{\alpha \to \infty} \rho_{\alpha} \left( \frac{x}{u_{s}^{1}} \right) \le 1$ hence  $\lim_{\alpha \to \infty} \rho_{\alpha} (x) \le \inf \{u > 0 :$  $\lim_{\alpha \to \infty} \rho_{\alpha} \left( \frac{x}{1} \right) \le 1$  =  $||x||_{0}^{s}$  therefor

$$\lim_{\alpha \to \infty} \rho_{\alpha} \left( \frac{x}{u^{\frac{1}{s}}} \right) \le 1 \right\} = \|x\|_{\rho}^{s} \qquad \text{therefor}$$
$$\lim_{\alpha \to \infty} \rho_{\alpha} (x) \le \|x\|_{\rho}^{s}$$

c)Similarly proof of proposition 2.7-d

**Theorem 2.12:** If  $\rho$  is t-s-convex pseudomodular and,  $0 < s \le 1$  then  $||x||_{\rho}^{s} =$  $\inf\{u > 0 : \lim_{\alpha \to \infty} \rho_{\alpha} \left(\frac{x}{u^{\frac{1}{s}}}\right) \le 1\}$  is s-

1)

homogenous

Р

$$\|0\|_{\rho}^{s} = \inf\left\{u > 0 : \lim_{\alpha \to \infty} \rho_{\alpha}\left(\frac{0}{u_{s}^{1}}\right) \le 1\right\} =$$

$$\inf\{u > 0 : \lim_{\alpha \to \infty} \rho_{\alpha}(0) \le 1\} =$$

$$\inf\{u > 0 : 0 \le 1\} = \inf(0, \infty) = 0$$
2)
$$\|\gamma x\|_{\rho}^{s} = \inf\left\{u > 0 : \lim_{\alpha \to \infty} \rho_{\alpha}\left(\frac{\gamma x}{u_{s}^{1}}\right) \le 1\right\} =$$

$$\inf\left\{u > 0 : \lim_{\alpha \to \infty} \rho_{\alpha}\left(\frac{x}{u_{s}^{1}}\right) \le 1\right\} =$$

$$\inf\left\{u > 0 : \lim_{\alpha \to \infty} \rho_{\alpha}\left(\frac{x}{u_{s}^{1}}\right) \le 1\right\} = \|x\|_{\rho}^{s}$$
3) similarly proof of theorem 2.11-b

4) 
$$\|\gamma x\|_{\rho}^{s} = \inf\left\{u > 0 : \lim_{\alpha \to \infty} \rho_{\alpha}\left(\frac{\gamma x}{u^{\frac{1}{s}}}\right) \le 1\right\} = \inf\left\{u > 0 : \lim_{\alpha \to \infty} \rho_{\alpha}\left(\frac{|\gamma|x}{u^{\frac{1}{s}}}\right) \le 1\right\} =$$

# $|\gamma|^{s} \inf \left\{ \frac{u}{|\gamma|^{s}} > 0 : \lim_{\alpha \to \infty} \rho_{\alpha} \left( \frac{x}{\left( \frac{\alpha}{|\gamma|^{s}} \right)^{\frac{1}{s}}} \right) \le 1 \right\} =$

 $|\gamma|^{s}||x||$ 

Therefor  $||x||_{\rho}^{s} = \inf\{u > 0 : \lim_{\alpha \to \infty} \rho_{\alpha}\left(\frac{x}{\frac{1}{u^{s}}}\right) \le$ 

1 } is s-homogenous

**Theorem2.14:** If  $\rho$  is t-s-convex modular and,  $0 < s \le 1$  then  $||x||_{\rho}^{s} = \inf\{u > 0:$  $\lim_{\alpha \to \infty} \rho_{\alpha}\left(\frac{x}{u_{s}^{1}}\right) \le 1\}$  is s-norm.

### 3. Conclusion

The main result that we obtained from this article is the definition of t-modular and the good results that resulted from it, including the definition of the norm in the form  $|| x ||_{\rho} = \inf\{u > 0 : \lim_{\alpha \to \infty} \rho_{\alpha} \left(\frac{x}{u}\right) \le u\}$ , and it was proven that this norm forms F-norm when  $\rho$  is t-semi modular.

### References

- [1] Luxemburg, W. A. J., & Zaanen, A. C. (1965, January). Notes on Banach function spaces. XIVa. In *Nederl. Akad. Wetensch. Proc. Ser. A* 68= *Indag. Math.* (Vol. 27, pp. 229-239). <u>https://doi.org/10.1016/S1385-7258(63)50014-6</u>
- [2] Musielak, J. (2006). Orlicz spaces and modular spaces (Vol. 1034). Springer. <u>https://doi.org/10.1007/BFb0072212</u>
- [3] Musielak, J. (2006). Countably modulared spaces. Orlicz Spaces and Modular Spaces, 112-128.

https://doi.org/10.1007/BFb0072210

[4] Rao, M. M., & Ren, Z. D.(2002). Applications of Orlicz spaces. CRC

In addition to that, we defined t-s-convex modular, and through it we proved that the norm defined as

UPS

 $||x||_{\rho}^{s} = \inf\{u > 0 : \lim_{\alpha \to \infty} \rho_{\alpha} \left(\frac{x}{\frac{1}{u^{s}}}\right) \le 1\} \text{ forms}$ 

s-homogenous.

One of the results worth noting is that the tmodular function is a decreasing function.

**4. Conflict of interests:** The authors declared no conflicting interests.

**5. Sources of funding**: This research did not receive any specific grant from funding agencies in the public, commercial, or not-for-profit sectors.

**6. Author contribution:** Authors contributed equally in the study.

Press.

https://doi.org/10.1201/9780203910863

- [5] Krbec, M. (1982). Modular interpolation spaces I. Zeitschrift für Analysis und ihre Anwendungen, 1(1), 25-40. https://doi.org/10.4171/ZAA/3
- [6] Bousselmi, N., Hendrickx, J. M., & Glineur, F. (2023). Interpolation conditions for linear operators and applications to performance estimation problems. *arXiv preprint arXiv:2302.08781*. https://doi.org/10.48550/arXiv.2302.08781

[7] Orlicz, W. (1988). Achievements of Polish mathematicians in the domain of functional analysis in the years 1919–1951. *Władysław Orlicz, Collected Papers, PWN Polish* 

# TJPS

### *Tikrit Journal of Pure Science Vol. 29 (6) 2024* https://doi.org/10.25130/tjps.v29i6.1661

*Scientific Publishers, Warsaw*, 1616-1641. https://doi.org/10.4467/2353737XCT.15.21 0.4415

- [8] Hosseinzadeh, H., & Parvaneh, V. (2020).
   Meir–Keeler type contractive mappings in modular and partial modular metric spaces. *Asian-European Journal of Mathematics*, 13(05), 2050087.
   <u>https://doi.org/10.1142/S179355712050087</u>
   <u>4</u>
- Khamsi, M. A. (1996). Fixed point theory in modular function spaces. *Recent Advances on Metric Fixed Point Theory* (*Seville*, 1995), 48, 31-57. https://doi.org/10.1007/978-3-319-14051-3
- [10] Kozlowski, W. M. (1988). Modular function spaces. Mongkolkeha, C., Sintunavarat, W., & Kumam, P. (2011). Fixed point theorems for contraction mappings in modular metric spaces. *Fixed Point Theory and Applications*, 2011, 1-9. <u>http://dx.doi.org/10.1186/1687-1812-2012-</u>103.
- [11] Chistyakov, V. V. (2006, January). Metric modulars and their application. In *Doklady Mathematics* (Vol. 73, pp. 32-35). Nauka / Interperiodica. <u>https://doi.org/10.1134/S106456240601008</u>

Х

[12] Chistyakov, V. V. (2010). Modular metric spaces, I: basic concepts. Nonlinear Analysis: Theory, Methods & Applications, 72(1), 1-14. <a href="https://doi.org/10.1016/j.na.2009.04.057">https://doi.org/10.1016/j.na.2009.04.057</a>

[13] Okeke, G. A., & Francis, D. (2022). Some fixed-point theorems for a general class of mappings in modular G-metric spaces. *Arab Journal of Mathematical Sciences*, 28(2), 203-216. https://doi.org/10.1108/AJMS-02-2021-0037

- [14] Mohammed, A. A., & Shaakir, L. K. (2021).
  partial modular space. Journal of Al-Qadisiyah for Computer Science and Mathematics, pp. Math.1-13 <u>https://doi.org/10.29304/jqcm.2021.13.2.78</u>
  <u>9</u>
- [15] Gholidahneh, A., Sedghi, S., Ege, O., Mitrovic, Z. D., & de la Sen, M. (2021). The Meir-Keeler type contractions in extended modular b-metric spaces with an application. AIMS Math, 6(2), 1781-1799. https://doi.org/10.3934/math.2021107
- [16] Fouad, O., Radouane, A., & Driss, M.
  (2022). A FIXED-POINT THEOREM ON SOME MULTI-VALUED MAPS IN MODULAR SPACES. Nonlinear Functional Analysis and Applications, 641-648.

https://doi.org/10.22771/nfaa.2022.27.03.11

- A., & [17] Baza, Rossafi, M. (2024).GENERALIZED HYERS-ULAM STABILITY OF QUADRATIC FUNCTIONAL **INEQUALITY** IN MODULAR **SPACES** AND β-HOMOGENEOUS BANACH SPACES. Nonlinear Functional Analysis and 295-306. Applications, https://doi.org/10.22771/nfaa.2024.29.01.18
- [18] Dales, H. G., & Polyakov, M. E. (2011).Multi-normed spaces. arXiv preprint

# TJPS

arXiv:1112.5148. https://doi.org/10.48550/arXiv.1112.5148

- [19] Ali, S. M., & Shaakir, L. K. (2019). On Snormed spaces. *Tikrit Journal of Pure Science*, 24(4), 82-86. <u>https://doi.org/10.25130/tjps.v24i4.405</u>
- [20] Shaakir, L. K., & Marai, S. S. (2015). quasinormal Operator of order n. *Tikrit Journal*

*of Pure Science*, 20(4), 167-169. <u>https://doi.org/10.25130/tjps.v20i4.1231</u>

[21] Shaakir, L. K., & Hijab, A. A. (2019). Some properties on extended eigenvalues and extended eigenvectors. *Tikrit Journal of Pure Science*, 24(6), 128-131. <u>https://doi.org/10.25130/tjps.v24i6.448</u>